
Cestarine
In a single day, N of Luka's trucks travel a specific highway. The highway has a number of exits
and entrances. An exit with a particular number is in the same location as the entrance with that
number.

Upon entering the highway, a truck driver receives a ticket which indicates the entrance he used.
When exiting, the driver pays a toll equal to the absolute difference of the entrance and exit
numbers. For example, if a ticket says he used entrance 30, then exiting at exit 12 will cost him
18.

Luka has figured out a way to save toll money that his company daily spends. Any two drivers
can meet on the highway and exchange tickets, even if their routes don't overlap. Tickets can be
exchanged an arbitrary number of times.

However, a driver cannot use an exit if his ticket says he used the same entrance, since that
would be suspicious.

Write a program that calculates the least total amount of tolls that the drivers can achieve by
exchanging tickets.

Input

On the first line of the input is the integer T (1 ≤ T ≤ 5), the number of test cases. T cases follow,
each beginning with the single integer N (2 ≤ N ≤ 100,000). Each of the next N lines contains two
integers between 1 and 1,000,000,000 inclusive, representing the entrance and exit numbers of a
truck. Note that no two trucks will have the same entrance or exit numbers.

Output

For each test case, output the least total amount of tolls Luka's company must pay.

Example

Input:
2
3
3 65
45 10
60 25
3
5 5
6 7
8 8

Output:
32
5

In the first example, the first and third drivers will exchange tickets. After this, the second and third
drivers exchange tickets. After this, the drivers will have the tickets 60, 3, 45, respectively. The



total amount in tolls is |65 - 60| + |10 - 3| + |25 - 45| = 32.

Warning: large input/output data.
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